
  Exploded Spare NKT 0/1/2 R

Specification subject to change without prior notice
www.numatic.co.uk ©  Numatic International Limited

Numatic International Limited, 
Chard, Somerset, TA20 2GB 
Telephone: 01460 68600 
Fax: 01460 68458

UNITED KINGDOM: www.numatic.co.uk	    GERMANY: www.numatic.de           FRANCE: www.numatic.fr

NETHERLANDS: www.numatic.nl               SWITZERLAND: www.numatic.ch   SOUTH AFRICA: www.numatic.co.za

PORTUGAL: www.numatic.pt                      SPAIN: www.numatic.es

   Revision        A01

   Part Number     913673

Additional 
Bag support frame assembly,
Bag support frame mounting,

100Ltr laundry bag & 
bag support tray 

(NKT 2 R Only Model Only)

2

8A

Detail Views A To K

A

B

C

D

B

A

E

F

G

H

I

K

C

Notes:-

1. See page 2 of 2 for items list and      	
    part numbers.

D

E
H

G

F

I

K

1

3

4

5

6

6

7

8B

9

12

13

14

15

12 13

14

15

17

16

16

16

17

17

24 25

18

11

10

11

22

1 of 2

19

23
19

20

21

21

20

20

NKT 0/1/2 R Exploded Details

Additional 
Bag support frame assembly,
Bag support frame mounting,

100Ltr laundry bag & 
bag support tray 

(NKT 1 & 2 R Only Model Only)



Item
Number

Item
Description

Part 
Number Quanity Trolley

Model
1 Large trolley base (Grey) 910255 1 NKT 0/1/2 R

2 Front upright weld assembly mild steel painted silver 906541 1 NKT 0/1/2 R

3 Rear upright weld assembly mild steel painted silver 906543 1 NKT 0/1/2 R

4 Door mount (Dark Grey) 223390 2 NKT 0/1/2 R

5 Nukeeper sliding cover (Twin - Dark grey) 906448 1 NKT 0/1/2 R

6 Shelf (Wide) 223106 8 NKT 0/1/2 R

7 Sliding Cover Assembly 906989 1 NKT 0/1/2 R

8A Cover pull tube painted silver (743mm) 906548 2 NKT 0/1/2 R

8B 19mm Diameter tube profile x 40mm long 206495 2 NKT 0/1/2 R

9 Servokeeper rear cover (Twin - Dark Grey) 206307 1 NKT 0/1/2 R

10 Skt upper rear tie- bar (M/S) painted silver 318682 1 NKT 0/1/2 R

11 Tie-bar M/S painted silver 318609 3 NKT 0/1/2 R 

12 Bag support frame assembly (Grey) 904613 1 NKT 0/1/2 R

13 Bag support frame mounting assembly (grey) 904612 1 NKT 0/1/2 R

14 100 Ltr Heavy duty laundry bag (Grey) 918001 1 NKT 0/1/2 R

15 Bag support tray 227971 1 NKT 0/1/2 R

16 4 Inch stem fitting castor 911354 4 NKT 0/1/2 R

17 Buffer moulding 204030 4 NKT 0/1/2 R

18 Mounting Block Moulding 223212 4 NKT 0/1/2 R

19 No.8 1 & 1/2 Inch long raised countersunk self tap screw 219839 - NKT 0/1/2 R

20 M5 x 25mm Long pozi pan screw 219057 - NKT 0/1/2 R

21 M5 x 30mm Pozi countersunk Z/PL screw 904520 - NKT 1/2 R

22 M5 x 35mm Long pozi pan screw 220033 - NKT 0/1/2 R

23 M6 x 70mm Long pozi pan countersunk screw 219422 - NKT 0/1/2 R

24 M8 x 25mm Long socket bolt 219555 - NKT 0/1/2 R

25 M8 Washer 221154 - NKT 0/1/2 R

Specification subject to change without prior notice
www.numatic.co.uk ©  Numatic International Limited

Numatic International Limited, 
Chard, Somerset, TA20 2GB 
Telephone: 01460 68600 
Fax: 01460 68458

UNITED KINGDOM: www.numatic.co.uk	    GERMANY: www.numatic.de           FRANCE: www.numatic.fr

NETHERLANDS: www.numatic.nl SWITZERLAND: www.numatic.ch   SOUTH AFRICA: www.numatic.co.za

PORTUGAL: www.numatic.pt SPAIN: www.numatic.es

   Revision        A01

   Part Number     913673

Notes:-

1. See page 1 of 2 for exploded
details.

  Exploded Spare NKT 0/1/2 R
NKT 0/1/2 R Items Table & Part Numbers

Item
Number

Item
Description

Part 
Number Quanity Trolley

Model
12 Bag support frame assembly (Grey) 904613 1 NKT 2 R ONLY

13 Bag support frame mounting assembly (Grey) 904612 1 NKT 2 R ONLY

14 100 Ltr Heavy duty laundry bag (Grey) 918001 1 NKT 2 R ONLY

15 Bag support tray 227971 1 NKT 2 R ONLY

NKT 2 R Additional Items Table & Part Numbers

2 of 2
EXP-002016 02/23 (A01)


